n

RSoIve[{W[n]== W[BJ]J,W[[—Z]]m_l, W[l]::O}, w[ni, n]

RSoIveHW[n] ::—1+n+W[OeiIing[2] +W[F|oor EH W[1] == o}, W[ni, n

Assune n = 2% and put Afk] = W[n].

Wnj = W[EJ]+W[E]]+n-1, WL] =

becones
2K 2K
k1 __ — I k_ .
\A/[Z]--W[2]+V\/[2]+2 1, W[1] =

W[n]::W[l—ZJ]+\/\/[[—Zh+n—l, WIL] = 0

or

W[2K] = W2k 1]+ W2 1] + 2 -1, W[2°] =0

or

W[24] =2w[2" ] +2" -1, W[2°] =0

or
Alk] =2 A[k-11+2%-1, A[0] =
RSol ve [{A[k] = 2 A[k-1]+2% -1, A[0] =0}, A[k], k]

[{ATK] > 1-2%+ 2K k]

So ’

W[k] = n Log2[n] - n +1 = (n-1) Log2[n] + 1

The above hol ds only for n = 2X



